Dated: August 2017 W8486-184177



NOTICE

This documentation has been reviewed by the Technical Authority and does not contain controlled goods.

AVIS

Cette documentation a été révisée par l'Autorité technique et ne contient pas de marchandises contrôlées.

For Table 1 and Table 2, the sum of all firm prices per Nato Stock Number (NSN), for all years, including the extended periods, will be multiplied by the estimated quantity to determine the evaluated price per NSN.

The sum of all evaluated price per NSN will determine the evaluated price per table.

For Table 3, Table 4, Table 5 and Table 6, the sum of all firm all inclusive hourly rates, for all years, including the extended periods, will be multiplied by the estimated level of effort to determine the evaluated price per table.

The sum of all evaluated price per table, the furnished material and spare parts and the subcontracting work will determine the evaluated aggregate price of the bid.

The estimated quantities, level of efforts and expenditure specified below are only an approximation of requirements given in good faith for evaluation purposes only and do not represent Canada's actual requirement.

Table 1 – All level of efforts (labour) in order to bring the heaters and related items to a fully serviceable condition in accordance with Annex A – Statement of Work.

	Firm Price per NSN					
Nato Stock Number (NSN)	Year 1	Year 2	Year 3	Option 1	Option 2	Estimated quantities
2540-12-348-4732	\$80.00	\$85.00	\$90.00	\$95.00	\$100.00	2
2990-12-357-4265	\$80.00	\$85.00	\$90.00	\$95.00	\$100.00	10
4520-20-001-6968	\$80.00	\$85.00	\$90.00	\$95.00	\$100.00	3

The Estimated Quantities are the estimated annual number of heaters to be repaired.

2540-12-348-4732

\$80.00 + \$85.00 + \$90.00 + \$95.00 + \$100.00 = \$450.00

\$450.00 x 2 = \$900.00

2990-12-357-4265

\$80.00 + \$85.00 + \$90.00 + \$95.00 + \$100.00 = \$450.00

\$450.00 x 10 = \$4,500.00

4520-20-001-6968

\$80.00 + \$85.00 + \$90.00 + \$95.00 + \$100.00 = \$450.00

Annex F – Evaluated Aggregate Price of the Bid

Dated: August 2017 W8486-184177

 $$450.00 \times 3 = $1,350.00$

\$900.00 + \$4,500.00 + \$1,350.00 = \$6,750.00

\$6,750.00 would represent the evaluated price for Table 1

Table 2 Disassembly (Beyond Economic Repair)

	Firm Price per NSN							
Nato Stock Number	Year 1	Year 1 Year 2 Year 3 Option 1 Option 2 Estimate						
(NSN)						quantities		
2540-12-348-4732	\$40.00	\$40.00	\$40.00	\$40.00	\$40.00	1		
2990-12-357-4265	\$40.00	\$40.00	\$40.00	\$40.00	\$40.00	5		
4520-20-001-6968	\$40.00	\$40.00	\$40.00	\$40.00	\$40.00	2		

The Estimated Quantities are the estimated annual number of heaters to be disassembled.

2540-12-348-4732

\$40.00 + \$40.00 + \$40.00 + \$40.00 + \$40.00 = \$200.00

\$200.00 x 1 = \$200.00

2990-12-357-4265

\$40.00 + \$40.00 + \$40.00 + \$40.00 + \$40.00 = \$200.00

\$200.00 x 5 = \$1000.00

4520-20-001-6968

\$40.00 + \$40.00 + \$40.00 + \$40.00 + \$40.00 = \$200.00

\$200.00 x 2 = \$400.00

\$200.00 + \$1,000.00 + \$400.00 = \$1,600.00

\$1,600.00 would represent the evaluated price for Table 2

Table 3 Mobile Repair Parties (MRPs)

	Year 1	Year 2	Year 3	Option 1	Option 2	Estimated Level of Effort in Hours
Firm all inclusive hourly rate for Mobile Repair Parties (MRPs)	\$90.00	\$92.00	\$94.00	\$96.00	\$98.00	4

The Estimated Level of Effort is the estimated hours for the heater assemblies, multiplied by the firm hourly rate

Dated: August 2017 W8486-184177

\$90.00 + \$92.00 + \$94.00 + \$96.00 + \$98.00 = \$470.00 \$470.00 x 4 = \$1,880.00

\$1,880.00 would represent the evaluated price for Table 3

Table 4 Special Investigation and Technical Studies (SITS)

	Year 1	Year 2	Year 3	Option 1	Option 2	Estimated Level of Effort in Hours
Firm All Inclusive hourly Rate for Special Investigation and Technical Studies (SITS)	\$80.00	\$82.00	\$84.00	\$86.00	\$88.00	10

The Estimated Level of Effort is the estimated annual number of hours of SITS

\$80.00 + \$82.00 + \$84.00 + \$86.00 + \$88.00 = \$420.00 \$420.00 x 10 = \$4,200.00

\$4,220.00 would represent the evaluated price for Table 4

Table 5 Technical Investigation and Engineering Support (TIES)

	Year 1	Year 2	Year 3	Option 1	Option 2	Estimated Level of Effort in Hours
Firm All Inclusive hourly Rate for Technical Investigation and Engineering Support (TIES)	\$90.00	\$92.00	\$94.00	\$96.00	\$98.00	10

The Estimated Level of Effort is the estimated annual number of hours of TIES

\$90.00 + \$92.00 + \$94.00 + \$96.00 + \$98.00 = \$470.00

Dated: August 2017 W8486-184177

\$470.00 x 10 = \$4,700.00

\$4,700.00 would represent the evaluated price for Table 5

Table 6 Overtime Labour Rates (Priority Repair Requests)

	Year 1	Year 2	Year 3	Option 1	Option 2	Estimated Level of Effort in Hours
Firm All Inclusive hourly Rate for pre- authorized overtime	\$100.00	\$102.00	\$104.00	\$106.00	\$108.00	10

The Estimated Level of Effort is the estimated annual number of hours of Priority Repair Requests.

\$100.00 + \$102.00 + \$104.00 + \$106.00 + \$108.00 = \$520.00 \$520.00 x 10 = \$5,200.00

\$5,200.00 would represent the evaluated price for Table 6

Contractor Supplier / Furnished Parts and Materials

The firm mark-up proposed by the bidder will be multiplied by the estimated amount of \$1,500.00 to determine the evaluated price for furnished material and spare parts.

Subcontracting Work Evaluation

The firm mark-up proposed by the bidder will be multiplied by the estimated amount of \$1,500.00 to determine the evaluated price for subcontracting work.